
1

次の積分を計算しなさい．

( i )

∫
2x log |x+ 1| dx

(ii)

∫
x

2
√
x+ 1

dx
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【答】

( i ) (x2 − 1) log |x+ 1| − 1
2
(x− 1)2 + C (C は積分定数)

(ii) 1
3
(x− 2)

√
x+ 1 + C (C は積分定数)

【解答】

( i ) 部分積分法を用いる．∫
2x log |x+ 1| dx

= (x2 − 1) log |x+ 1| −
∫

(x2 − 1) · 1
x+ 1

dx

= (x2 − 1) log |x+ 1| −
∫

(x− 1)dx

= (x2 − 1) log |x + 1| − 1
2
(x − 1)2 + C (C は積分定数) ……（答）

(ii) 被積分関数の分子を変形する．∫
x

2
√
x+ 1

dx

= 1
2

∫
(x+ 1)− 1√

x+ 1
dx

= 1
2

∫ (√
x+ 1− 1√

x+ 1

)
dx

= 1
2

{
2
3
(x+ 1)

√
x+ 1− 2

√
x+ 1

}
+ C

= 1
3
(x − 2)

√
x + 1 + C (C は積分定数) ……（答）

• 部分積分法を用いる．∫
x

2
√
x+ 1

dx

= x ·
√
x+ 1−

∫
1 ·

√
x+ 1 dx

= x
√
x+ 1− 2

3
(x+ 1)

√
x+ 1 + C

= 1
3
(x− 2)

√
x+ 1 + C (C は積分定数)


